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Solution 1:
Cities Temperature
Lahulspriti -8°C
Srinagar -2°C
Shimla 5°C
Ooty 14°C
Bengaluru 22°C

(b) The temperature of the hottest place = 22°C
The temperature of the coldest place = -8°C
Difference = 22°C — (-8°C)
=22°C+.8°C=30°C
(c) Temperature of Lahulspriti =-8°C
Temperature of Srinagar = -2°C
- Difference =-2°C — (-8°C)
£ 20+ BC=6C
(d) Temperature of Srinagar =-2°C
Temperature of Shimla = 5°C
~ Temperature of the above cities taken together
=22°C+5C=3°C
Temperature of Shimla = 5°C
Hence, the temperature of Srinagar and Shimia taken together is less than that of Shimla by 2°C.
i.e,(5°C-3°C)=2°C

Solution 2:

Given scores are 25,-5,-10, 15,10
Marks given for correct answers
=25+15+10=50

Marks given for incorrect answers
={(-5)+(-10) =-15

-~ Total marks given at the end
=50+ (-15)=50—-15=35



Solution 3:

Initial temperature of Srinagar on Monday =-5°C
Temperature on Tuesday =-5°C = 2°C =-7°C
Temperature was increased by 4°C on Wednesday.
~ Temperature on Wednesday

=-7°C+4°C=-3°C

Hence, the required temperature on Tuesday =-7°C
and the temperature on Wednesday =-3°C

Solution 4:

Height of the flying plane = 5000 m
Depth of the submarine =-1200 m

-~ Distance between them

=+ 5000 m — (-1200 m)

=5000m + 1200 m =6200 m

Hence, the vertical distance = 6200 m

Solution 5:

The deposited amount will be represented by a positive integer i.e., X 2000.
Amount withdrawn =X 1,642

~ Balance in the account

=X 2000-%1,642=X358

Hence, the balance in Mohan's account after the withdrawal

= 358

Solution 6:

Distances travelled towards east from point A will be represented by positive integer i.e. +20 km.
Distance travelled towards the west from point B will be represented by negative integer, i.e, =30 km.
Final position of Rita from A

=20km-30km=-10km

Hence, the required position of Rita will be presented by a negative number, ie. -10.



